N of associated (recoToSim) looper tracks vs normalized X

4 6 8 10 12 14 16 18 20

track x?

berset

tracks vs normalized x? |

recoToSim)

[{

[N o associated

ized x?

mal

track vs nor|

0

[N of reci

o
o
S}
I o
N <
00 X
— O
s
©o B
<
—
N
—
o
)
s ©
<
o
o
syoel axey
I o
N <
Bw < <t
o & 55
[(olp=] -
(28 | o anad L
e_e
<
" EE j3
N B3 |
E E r
SR o I e S S SRR TR R | SR
5 g L
[ee] 2_2 A
V_V
©  K§ _v
oS N
< |88 L
T T .
o~ 2D
] e}e]
| < £
[ N = bo0s =
o m =} 3
mv_om\_ﬂv:: S)del aniy

I o
N <
00 X
= O
S
© 5
<
—
a
~
—
o
o
o
© .
@
2
< S
g
........ o~ <
i
1T TR -
o = -
5 ER
syoel] Z| syoen




	Contents
	Page 1


